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50° T+20°

O 20° @)30° @ 40° @ 50°
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@ 50° @ 130° @140° @ 160° ® 180°

Lx = 50°, zy = 90°
[x+ Ly = 50° 4 90° = 140°




7. Ao HEO x°:y°:2°=3:4:5<L M, x 9 F2?

@® 40 @)45 ® 50 @ 55 ® 60

x°:y°:z°:3:4:5°]E§x°:180°><%:45°°]‘:]'.
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D)20° @ 25° ® 30° @ 35° ® 40°
gmAztow

x,

B 70

X
70° 4+ /x = 90°

LoLx = 20°
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13. t+& 29914 3AB = AD, 4BC = BD, AD — 36em % ©, CD 9
Zolg Fatofet,

_---36cm--_

A B C D

@ 14cm @ 16cm (@)186m @ 20cm ® 22cm

AB = 12cm |22 BD = 24cm

3 3




14. og TN 2x+ 2y 9] 2715 F5HH?

@ 50° @ 70° @80° @ 90°

B

® 100°

/Zx + 50° = 90°
ooLx = 40°

50° + 2y = 90°
Ly = 40°

Lo Lx+ Ly = 80°
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O 30° @ 40° @ 50° @60°

® 170°

£x = 180° — 120° = 60°
Ly = REAZo|Er 120°0]t}.
Ly — /Lx = 120° - 60° = 60°
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FAD 9l SHS M E,AC S8 M F& & 4, ED = FD 9
2 171

& 24 AB ©] $4-& 4 C 2 513 TB o £ D o s,

AB=2xgl11 =01

]

A_C:C_B:x,C_D:ﬁzéx
-— 3 — 1— _— 3

ﬁ:ﬁ:%x,ﬁ:ﬁ+c_D=x

3 3__
L ED = -x=-FD 9|ty.
1 i=;




19. & 994 LAOD = 4,COD, /BOE =
3/DOE ¢ u, /COE 9] Z7|=?

@® 30° @ 35° ® 40°
@)45° ® 50°

,

e

/AOC + £COD + /DOE + /EOB

= 3/COD + «COD + /DOE + 3/DOE
= 4,COD + 4/DOE

= 4(2COD + /DOE)

=4/COE = 180°

.. L.COE =45°
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D)30° @ 35° ® 40° @ 45° ® 50°

(—x + 50°) + (2x + 20°) + (3x — 10°) = 180°
4x + 60° = 180°

4x = 120°

L Lx=30°




